9.5
Practice - Quadratic from Roots

From each problem, find a quadratic equation with those numbers as
its solutions.

1)2,5 2) 3,6

3) 20, 2 4)13, 1

5) 4,4 6) 0, 9
7)0,0 8) —2,—5
9) —4,11 10) 3, —1
1) .4 12) 2,2

13) 3.3 14) 1,2

15) 2,4 16) 2,2

1) =55 18) 2, 1
19) —6,5 20) —2,0
21) +5 22) +1

23) &+ 20) 47
25) £ V11 26) +2v/3
27) + 45 28) + 11
29) +iv/13 30) =+ 5iv2
31) 2+6 32) —3++2
33) 143 34) —2+4i
35) 6443 36) —9+iV5
37) —LEV0 38) 2£%

39) 6i8i\/§ 40) 72i2i\/ﬁ
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9.5
Answers - Quadratics from Roots

NOTE: There are multiple answers for each problem. Try checking your answers
because your answer may also be correct.

1) 22— 7z + 10 15) 72% — 40z +12=0 29) 22+ 13 =0
2) 22— 9x+18=0 16) 922 —2x+4=0 30) 22+ 50 =0
17) 1822 — 9z — 5=
3) 2% — 222 +40=0 7) 182* —9x —5=0 31) 22 — 4z — 20
4) 2> - 142 +13 =0 18) 622 — 72 —5=0
32) 22+ 6x+7=0
5) 22— 8z +16=0 19) 92°+ 53z —6=0
2 _
6) 22— 9z = 0 20) 522+ 22 =0 33) 2°—2z+10=0
7) 2= 21) 22 —25=0 34) 22+ 42 +20=0
8) 22+ Tx+10=0 22) 22—-1=0 35) 22— 122+ 39=0
2 1 _
9) 2?2 —Tx —44=0 23) 25z =0 36) 22+ 187 486 =0
10) 22— 22 — 3=0 24) 22— 7=0
37) 422+ 4w —5=0
11) 1622 — 162 +3=0 25) 22 —11=0
2_ e
12) 5622 — 752 —40=0  26) 22— 12=0 38) 90"~ 62+29=0
13) 622 — Tz +2=0 27) 1622 —3=0 39) 642* — 96z +38=0
14) 62> — 72 +2=0 28) 2+ 121=0 40) 422+ 8z +19=0
@
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